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The Graph for Question 5

Graph Structure

Edges Sorted By Weight

01 FI 23EI 52DE
02DH 28CE 53 BF
03FH 29JK 60EG
05AE 30FL 621K
06 AG 31JL 72HK
07H) 32GH 73IL
09GJ 33HI 76GK
I1EH 34KL 84AC
12BC 40CF 85DIJ
17BE 42AB 94 AD
I8HL 44 EF 98BD
20CI 48DG
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Adjacency Matrix

‘NN <

A/B|{C DI E|F|IGHT|J K|L
42|184|94 5 6
42 121981753
84|12 28140 20
94|98 52) |48| 2 85
5|17|28|52) |44/60 11|23
53140 |44 311 30
6 4860 32 9176
2113 |32) {33|7 72|18
200 |23]1 33 62|73
85 917 29|31
76721621290 34
30 18173|31|34
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